Math 346 Quiz 3B
February 17, 2016

name: ANSWERS

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.

1. Recall:ifA = [aU] ,then AT = [aﬂ] - Suppose B = [bU] . Prove that (4 + B)T =4 + B
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3. (a)GivenA = [a”] and B = [b;;] _, conjecture a formula for tr(A + B) = ""x‘ (‘A) + Fe (B)

(b) Prove your formula works:
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x+2Zy—z = —2
4. Solve the system x +2z = 2 bydoing the following:
x—=dytz = 7
{a) Write down the augmented matrix for the system:
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) Find the reduced row-echelon form of the augmented matrix:
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(c) Write down the solution as a column vector: ( ) = |
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Bonus: (a) If A —1(1 10?),ﬂndA = /o
(b) IfB=(0 -1 2),finddetB= 2,
Z. AL 0

{c) Isit possible to find B~1? Y_QS How do you know? 0{ e+ B 7& O
(d) Let C be the coefficient matrix of the system in problem 4. Is it possible to find C~1? YQS

Howdoyouknow?;RREF: o\][- C, = I3
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